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~ Before answering the question, ensure that you have been Supplied the correct and

complete question paper, no claim in.this regard, will pe entertained after
examination. ,

1903 S , | ~ P.T.O.

Downloaded from cclchapter.com



] ~ | 123, ’ 1903
= 3T - ‘ y

@) o T SR & -
(i) 5?71737‘73’#14;7?7? Gﬁ‘@;a’-\r@mg} )(a, /H;C,jza-/;?‘g}?:]qg,

GUs O ;&7 @UZ & gyT TEr 1 7 gl (40) WW%@‘WF%WWV~
1 3% &7 &

T T 50 G F T qer2 46 a% guy o g7 & 9w T 2 s/l # &l

W‘H’:-gw@vg#wva@7 311 7% g7 o T & A 3 373’77‘%7 |
/ : v .

g% T wwﬁwvmu 7 14 aa;gaa?:rwvff Wwvs SHH #
8

(iii) WW?W#WW##@W%?%‘ 1‘@7&9#5 a;"zﬁ‘az#a?w##a;rr—rn%
va/%arwa‘/ @wﬁ##wﬁﬁvww##%%ﬁwvm%

General Instructions
i) All questwns are compu lsory

(i) This question paper consists of 14 questzons whlch are dwlded into four
ASectlons ‘A', ‘B, 'C'and 'D":

- Section 'A' : Question No. 1 of this Section has forty (40) Objective Type
Quéstions. Each question carries 1 mark.

Sectidn 'B': This Sectzon contains five questlons from Question Nos. 2 to 6,
each of 2 marks.

Section 'C' : This Section contains five questions from Question Nos. T to
' 11, each of 3 marks.

Section 'D' : This Section contams three questions from Questlon Nos. 12 to
14, each of 5 marks.

, (ili) There is no overall choice. 'However, an internal choice has been pro:vzded in
two questions of 5 marks. You have to attempt only one of the given choice in
such questions,
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(4)

©)

(3) | 1903

SECTION - A
. gUs - A
(B++/3)2++/2) & A ...... eee B , 1
The value of (3.+\/§)(2 f«/—Q-)'is; ........... ‘ : e |
Pt % & -8 R e o ¥ 7 | U
a) 2 | - B 0 '
© Y4« - D Jis
Which of the following is nbt a rational number [/
@) 2 | -~ (B) 0
(C) V4 D) 16
3 'v A | . \." A s f‘lr - .
.16ZEBT‘TH%- N » AR | 1
A) 4 | B 12°
c 8 % I (D) 48
Value of 16%,is : Y
wa . ® 1zj
©) 8 g - (D) ‘
% qﬁﬁm m# W T sma éﬁr . | T
J—+J_ w Py » _ 1
| What will be get af';er rationalize the denominator of : J§+J§ ?
a) . B EW
(C) . Brad - ; (D) sﬂﬁ%ﬁs‘ﬂ‘aﬁ
Which of the type is polynom1a1 t2-4 ?
~ (A)  Binomial - - o (B) Monomial
(C)" Trinomial (D) None of these

P.T.O.
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6) 5x3+4x%2+7x WHETE : ' ' ' 1
®w 1 B) 2
© s D 4

The degre_e of 5x3 + 4x2 +7x is :

a) 1 : . (B) 2
) 3 5ot / ‘(D)" =
(7) @Wmmﬁ%:,4' o 8 SRR i ey y     . 1
(A) 970289 4 | i ‘-(B-)' 970299
(C) 970389 . s (D) 070480

The value of (99)°

(A) 970289 . (B) 970299
() 970389 - (D) 970489
(8)'64m3_;343r;3%gﬁ1m..; ....... N ) , i 1
~ The factors of 64m3 343n are ........... .
©) qﬁx—l,p(x) fx? - J—x+125rqaﬁg°1=r@g€r ﬁrkasrm?{am:' . 1
(A) V2 +1 "'4 R -
© vZ-1 @ —2-1
The value of kis, if x -1 1s é factor 6f.ptx) = kx2 ~2x+12
W Et B -1+45.
© \/5'_‘1 ko ,. D) _\/5_1:-' |
1908 . - )
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(10) (x+4) (x + 10) F %S T BnT ?

(11)
(12)

. (13)

(15)

Product of ‘(x + 4) (x + 10) will be what ?

Wx+y=7wm@xma'ﬁﬁmﬁgqtm%?

The graph of line x +y = 7 intersects the x-axis at which point ? |

TRHET 2+ 1= x+ 3H & vovennnn, R {

" ' J .
Solution of equation 2x+ 1 = x+ 3 is ......... P se

x =2 FH ARG FEqer

!

A) I FRE. . (B) yIW D R
(©) g&riﬁgﬁ@gﬁw% D) FPATE
Graph of x = 2 is a line : - A
“(A) Parallel t6 x-axis o | '(B) Parallel to y—axis .
: (C) Passes through origin : (D) None .
(14) B (-1, 4) A =g HE?
| (A) L. b " (Bf v
ey . D m
Point (-1, 4) lies ;)n which quadrant ? .
a1 7 e, (B) IV
C) 1 | g (D) I
Rrg 0,3 fa@¥? |
(A)  x-3787 w - o (B) yoEW -
© wreglgd (D) FEEWA-
Point (0, -3) lies on : i
(A) x-axis | (B) “y-axis
(C) 1st quadfant , ) (D) an quadrant

1903
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(16) frg (6, -4) T qT M AR oovvvvvini, &y . ’

. The abscissa and coordinate of (6, -4) is .......... . , .
(17) S8 I9g % 9 TR ot § & Yan sk od ¥ | L
Write the name of the point where these tg;vo lines intersect. |
(18) A% M, THT AABC ¥ Fot AC % 7eF g &, FﬁBM=% gt 1
(A) AC . ; | (B) AB
(C) BC : o B UERE L sﬁﬁaﬁs‘ﬁﬁ
If pomt M, is the m1d point of hypotenuse AC of I'lght angled A ABC, then
‘ BM— L
2 . L '
. (A) AC ,(B)‘ :
. (C) .BC. 7k oL | | =
(D) None of these . : :
(19) AABC@W%‘{W% ﬁm?-uA— 90°eﬂTAB ACH 43@1 okl
Sall a'r" i , : : ; ;o 1

AABC 1s a rlght angled tr1angle in which A = 90° and AB AC What is
the value of ZBand £C P ; :

(20)%5%@#@3#%%%@@%#%@%%%%@ .......... BT Bl

The trlangle formed by Jommg the. m1d -points of the sides of an isosceles
triangle is ....... TR e

(21);;?‘@@%%@3 4:5: 6%@§qﬁﬁﬁ,€f§g‘iﬁ_%aﬁq;ﬁq%w
' 1

(A) 60°;,80°,‘ 100°, 1200
(B) 120°, 100°, 80°, 60°
(C) 120°, 60°, 80°, 100°
(D) 80°, 100°, 120°, 60° ,
1903 - | | | | e s
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The angles of a quadrilateral are in the ratio 3: 4 : 5 : 6. The respective -
angles of the quadrilateral are : ' ' |

(A) 60°, 80°, 100°, 120°
(B) 120°, 100°, 80°, 60°
© 120% 60°, 80, 100°
(D) 80°, 100°, 120°, 60°

(22) ST H, F O 9% TF g0 W & Rig A, B iR C 50 5K ¥ 5 £BOC = 30°
T LAOB = 60° ¥ I AT ABC & @G g9 | D wF g ¥, & zaDC

In fig., A; B and C are three points on a circle with centre O such that
' £BOC = 30° and ZAOB = 60°. If D is a point on the circle other than the
arc ABC, then ZADC will be : / o :

(zs)ﬁﬁ%mﬁgéﬁﬁ%%@éiﬁmwm%?' e
@) - B | |
© w7 L (D) B
1903 | ‘ |
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(25)

. (8) - . 190'3.

One and only one circle can pass throﬁgh from how much norn-collincar
points ? _ ) :

(A) Three &l (B) Four -
(C) Five D) six
e WA F 3§ o B & o Ay ¥ ’ Co
(A) 30°, 40°, 100° . B) 60°, 30°, 90° “ /
(O 30°; 30°, 45° A (D) & T
In a pair of set squ-aff\:uangl_e of | ohe triaﬁglé are :
(A) 30°, 40°, 100° iy | B 60°,r3(5°,"90°
(C) 30°,30°,45 [ fD) None of these
WWABWWWWW%%WWWW%WWW
g & ? | ST oA, & . .. 1

(26 f

1903

(27)

To draw the perpendicular bisector of the segment AB, we open the

compass how much ?

To construct a triangle we must know at least its pafts.
qq;agaﬁaw&raﬁrqsiﬁaﬁtu W%aﬁrmqﬁmwﬁ%n IR
@) 4%1#1 . (B 13%@. |

© 14 D) ¥

Two sides of a frianglc-:axjé 8 cm and 11 cm having perimeter 32 cm, then
its semi perimeter is : :
(A 4 cm : (B) 18ecm

, 3 . ’ ,

(C) | 14 cm o (D) 16cm
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(28) QEBﬁgawi@sqﬁgweﬁwmmszsm%aﬂtm‘qﬁméoo%%uGH

(A) 1500+/3 #H? : (B) 120043 #
(C) 1800+3 H e 160043 #

The sides of a- trlangular plot are in the ratio of 3 : 5 : 7 and its perimeter
is 300 m that area of plot are :

(A) 150043 m2 e (Bj’ 1200J§ m?
© 1800¥3m?> . (p 1600J— 3 m?2 ST
Izw%wé:amwammmwmmmaw T 15
' What is the area of a triangle when its base and he1ght is knowu ? |
(30)aﬁ'wmmmmaa,amwm.j .......... A 1
If each edge of a cube is a, 'then the surface area of thc cube 1S oveieen.n.
(31)@%%%524@%%@?{%%%% s e L
a) s A Séfﬁ - | |
C) 3&h (D)6@r:ﬁ
The volume of a sphere i is 524 cm> . The diameter of sphere is :
&) “4cm | (B) 5cm
. '[C) 3cm ' | (D) 6 cm
(32) @ﬁaﬁrmﬁ 15%41% sz:rameﬂmavf 1570%1#13%1 ;’aqﬁawrmfﬁaww
2 7 ’ | 1
- The height of a cone is 15 cm. If its volume is 157Oe1n:3, the reciius of it
base is ? :
1903 | bt~ | | | | ‘. : P.T.O.
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(33) 3 G TET BTG ...oov.... BT B 1
The total surface area of a cylinder is
(34) TF TGN AF B MR A Frewr 113%%@'{%@355 @‘ﬁz%' ¥
oG N FaE B i oy (n‘_355 M)
(A) _'1'1'%?-’11' | - '.(B)AQIWI'(
c) __siﬁ'f P : (D) 16.% it
The base radius: of a conc is'11. 3 cm and curved surface is 35§ cm?. Its
; helght1§ g AT (Takcn:f—ss)
W item @ gem
© sem D 10em
as) ‘aﬁ 140- 15025ra=’ri%;§:r .......... %l & i . 1‘
Class mark of class 140- 150. ;s e
(36)%@%%20%@%%%(10*%%)%%% '

9,6,5,9, 3, 2, 7,7,6,5,4,9, 10, 10, 3, 4,7,6,9, 9

. m H Y ? |
A 7 | ', (B9
c 3 . D) 10
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The marks (out of 10) obtained by 20 students are as follows 5
2,6,593,2,7,7,6,5, 4,0, 10, 10, 3,4,7,6,9, 9

The modal marks are P

Y

@ 7 L B 9
(C) 3 | ' (D) 10 i
(37)@%%@?%%10%&%%1@3%%& 1

2345013343'
Eﬁﬁfammwasaﬁa‘ﬁﬁm;

The followmg number of goals were. scored by a team in a series of 10

matches
2:' 3;-4s 5’ 0’ 11) 3: 3, 4’ 3
Flnd med1an of these scores.

(38)@trr€faﬁrsoomﬁaﬁwqﬁwmza¢ﬁﬁamzoo%u2a?rmfaww

T 7? s, . 1
3 4 o o '_ 2’_' °

(A) 5 : ,(B_) =

(€)1 | S _(1;)‘.5

~ After rolling a die 500 times the frequency of coming 2 is 200. What is
probability of throwing 2 % :

3 , | 2
@z Lt B2
S 4.

) 1 : e ' (D) 5

1903 P. T. 0!
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Express 0. 99999 in the form .

U25 | 1903

(39)ﬁ;eﬁwwmﬁmﬁwaﬁsnwa?ﬁ%? L s 1.4
A4 1 | | (B) ©
- 1
< 2 o SRR D) 7
* Probability of an impossible event is always :
@ 1 | - B o
. o T
© 2 ST g
(40)@13@?%1‘3‘@3@%50@?7 15 maﬁmw%wﬁwamﬁﬁr

SRR il e '_ e S 1
A batsman hits boundrles 15 out of 50 balls What is thc probaolhty that
he will not hit boundary * ? | it
- L SECTION-B -
. S wus-§ ‘

.’o.99999 ....... %r %mﬁmaﬁfm N . N )

p", /
q -

ﬁﬁmwmmwwmmw AR it g, .02
3=2x+y .
Draw the graph'df following linear equation in two variables :

| 3 2x+y

magafsrﬁurﬁmamqtﬁg(—z 4), (3 -1), (-1, 0), (1, Z)Rem%nmdhaaqz
mwﬁﬁmmmwzﬁrmm| . 2

In which quadrant or on Wthh axis do each of the points (-2, 4), (3, _'1)’
(-1, 0), (1, 2) lie ? Verify your answer by locating them on the Cartesian plane.
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‘5‘. @ﬁqﬁﬁﬁaﬂﬁﬁgwﬁmgﬁ%%ﬁmw'wﬁwmmp N5

Find the angles formed at the centre by the sides of regular circular pentagon.

.‘@Eﬁ%ﬁﬁﬁﬁ@ﬁ%ﬁfﬂﬁﬂﬁ@aﬁﬁsoﬁﬁﬁ6ma¥ﬁrm%aﬁwwm’mﬁn

% T ST B | | , 2

In a cricket match a lady batsman hits a boundary 6 times out of 30 balls the
plays. Find the probability that she will not hit boundary in the next ball.

SECTION-C

I BECACEE o
| ) x3+13x% +32x+20 . ’ '
Factorise : o } | |
g ’x3_+'13x2+3»2x+20 P
s.mﬁmmwmmmwm%« et A -3
Show that the angles of an equ11ateral trlangle are 60° each
|
i g.m%magﬁﬁﬁwgwﬁ%qw-ﬁgﬁﬁmﬁﬁmm
; wﬁqﬁa R 2 | 3
" Show that the line segments. Jomlng the mid- -points of* opposite sides of a
quadrilateral bisect each other. ‘
'~ 1o. @ﬁgﬁABcﬁmzﬁmmﬁBc 8% £ZB=45° ¥R AB - AC= SSWE?H 3
Construct a trlangle ABC in wh1ch BC =8 cm, /B= 45° and AB-AC=3.5cm,
1903 " P.T.0
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11. Wﬁﬂﬁmmmaﬁmmﬁﬁwwwaﬂtloﬁ%wmw

4288 AT
Find the area of a triangle two sides .of which are 18 cm and 10 cm and the
perimeter is 42 cm. N
SECTION-D
‘gE-T |
12. qﬁmmaﬁaaﬁagﬁmwaﬁrmmﬁs | ‘ 5

() ¢ P WRE AT o '
@) o REt sERE . o o oE
If two sides of a cyclic quadrllateral are parallel prove that :
(1) remammg two sides are equal and .
(i) both diagonals are equal . -
‘OR | RN
ABC@H&W%%{WW CH‘FﬁT’T%l EEUYAB%HEI-%@ M%{@WBC%EW
@%ﬁﬂ%i‘@Aceﬁerqﬁr@am%mﬁs |

@) . DYFTACH qmﬁg%

.J
(i) MD 1 AC ®
(ili) CM=MA = %‘AB%

ABC is a triangle: right angled at-C.'A line through the mid point M of
'hypotenuse AB and parallel to BC intcrsects AC at D. Show that : ‘ |

(i) Disthe mid point of AC
(i) MDL AC
O T
© (iii), CM = MA = EAB RN

1903
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13.

14.

1903

(15) 1903

ﬁ?ﬁ%ﬁﬁwgmﬁammxﬁz%mwﬁtm%mm%lw%@%ﬁa
ﬁzzs%r:ﬁx1o%ﬁx7.5ﬁﬁﬁmﬁmm§ﬁzﬁmm%? .5

The pamt In a certain container is sufficient to paint an area equal to
9.375 m?. How many bricks of dimensions 22. 5 cm'x 10 cm x 7.5 cm can be
painted out of this container ?

STer
OR

mﬁ@maﬁ%wwaﬁwﬁm%aﬁmaﬁﬁwm@
%|mmm7m%@rmmm1ﬁtﬁ%mﬁmaﬁm 14 3% & &
mwwaﬂxmwaﬂwmaﬁm|

A lead pencil consists of a cylinder of wood with a solid cylinder of graphite

filled in the interior. The diameter of the pencil is 7 mm and diameter of

~ graphite is 1 mm. If the length of the pencil i 1s 14 cm, find the volumes of the

wood and that of the graphite.

~'Wﬂ%ﬁmaﬂﬁmﬁmwgﬁ&rwﬁaﬂém2ﬁ W@ﬁﬁqm%m

%Waﬁmﬁaﬁwqﬁuwﬁﬁloooﬁuﬁﬁ%wmm% 5

g & (ffio) | 4000 %} F4_| 4000 § 9000 |9001 & 14000| 14000 & i

SRS 20 | . 210 325 445

7 9 56 N Y T R A € A ) AR o A
(@) - 4000%@#{&@%%%%%'@3%%%%#"?
(ii) asgooomﬁtﬁaﬁasgaazsw?

(iii) 4oooﬁsﬁ’raﬁ114ooom%aﬂa#§&aﬂmﬁ%msﬁwmsﬁ?

P.T.0.
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A ‘tyre"man‘ufacturing company kept a record of the distance covered before a
tyre needed to be replaced. The table shows the result of 1000 cascs':

f\

' |Distance (in km)| less than 4000 | 4000 to 9000 |9001 to 14000 Morc than 14000

Frequency .20 - 210 335 445
If you buy a tyre of this cd'mpany, Wha{;c is the probability that :

(i) It will need to be replaced before 1t has covercd 4000 km ?

(i) It will last more than 9000 km ? |

(iii) It will need to be replaced after 1t has covered somcwhere between 4000

km and 14000 km?

1903
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